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I8 Y¥7-97 9N @S] 7 [G¥7/5d 37 797 8 — @ue &, &, T aoT & |

59 Y97-97 § 7 35 F97 & | @4 I97 sfAard & |

GUE & 4 397 G&I1 1 - 16 & | T TGIH3 J97 3 | I F7 & forq 1 37 [FeiRa
8 | Y97 & STYR W, 1% v & I & qHar 8 |

GUE @ 4 7 g8 17 - 25 & | I 3fd Gg-37T 37 & | IAF ¥ & oY
2 37 [F9Ra & | Y% I97 &1 I 37f&aq 30 Vgl 7 g |

GUE T T Jv7 T&IT 26 — 32 § | F TY-IF0T Jo7 § | FAB FoT & 70 4 3
RERa & | Fed% o7 &7 3T 3feaaH 80 vieg] § Fow |

TUS T 5 Y97 geIr 33 — 35 8 | F FH-FHIT y97 & | IF F9T F 7T 6 3P
RefRa & | Icd% 97 &7 I 37feIban 200 35 7 AT /

IGTf7 1 GETIar & J97 G&IT 38 7T I G197 | 15T T 3g<eg & Gerar & 57
&7 34 HT I T |

WIS &
STYFHY (A) :  ISETE I TRH & & 39h! i, g hl THEAN, 9K,
FAHIRTuT, qAT dehdleh N oW o S8R ST o @ SHT
el
R (R) : UShtarg et oTfier yawen @ fomw sToR wEeen § s |
STl 1Y A T AR feam Sman 2
(A) IR (A) TAT SR (R) ST Tl & 99T SR (R), 3TThaT (A)
e AT 7 |
(B) AR (A) TAT HWUN (R) GHI Tl §, ikt R (R), AR (A) Fhi
el AT 7E 2 |
(C) AR (A) T 2, TfehT SRUT (R) T 7 |
(D) AR (A) T4 &, Wlhd IO (R) T& 8 |

GEHATRUl o g UWE § | 3HeR UwE elefied § 9 fead q@r s
T & ?

(A)  hadl ST (B) had dlfeH

(C) hdd ATCH (D) W, |If&cd, Aeh
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General Instructions :

Read the following instructions carefully and follow them :

)

(ii)

(i11)

(iv)

(v)

(vi)

(vit)

62-11

The question paper is divided into four sections — Section A, B, C and D.
There are 35 questions in all. All questions are compulsory.

Section A includes questions no. 1 — 16. These are Objective Type Questions,
carrying 1 mark each. As per the question there can be one answer.

Section B includes questions no. 17 — 25. These are Very Short Answer type
questions, carrying 2 marks each. Answer to each question should not exceed
30 words.

Section C includes questions no. 26 — 32. These are Short Answer type
questions, carrying 4 marks each. Answer to each question should not exceed
80 words.

Section D includes questions no. 33 — 35. They are Long Answer type
questions, carrying 6 marks each. Answer to each question should not exceed
200 words each.

Question no. 33 is to be answered with the help of given graphics. Question no.
34 is to be answered with the help of given passage.

SECTION A

Assertion (A) : What marked capitalism from the very beginning was its
dynamism, its potential to grow, expand, innovate, and

use technology and labour in the best possible way.

Reason (R): Capitalism is an economic system organised to

accumulate profits within a market system.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

The impact of Sanskritisation is many sided. Its influence can be seen in :
(A) Language only (B)  Literature only
(C)  Drama only (D) Language, Literature, Drama
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(A)
(B)
(®)
(D)

BRA I T STYFhTHTT T Teh THH HshH o1 |

30 O g 9T W SA1feeh Tgmrar STauisdia weeneti gy <f 7 ot |
gha shifd Johat Y wom ot T, e Iaw weor qenm detrrn | e |
gRd Shifd H&d ¥4 § 715 q91 ATdd Icq1g i dTel &3 T Aferd off |

o o
BN

I
IT.
III.
IV.
(A)
(C)

Rga o @ st wiitfeafahi et it fomwan(d) 2/8 2
qg= hl TSIHITd
TTehfdeh HETEAT 1 AT qrad

. o o >
diveplden (=l

TS STEHET

haet I 3R 11 (B) had 11
shad 111 (D) I, 11, III 3R IV

HIfae-19 TeMRT & HRU Tehel W FAN HHAMNAT 4 = F S fhar |
frfefigd ® @ & =X 8 %™ o 6 Al § Fhal § 2

L.
IT.
III.
IV.
(A)
(C)

HTEH TR

gt sam

HTe(d 3TN

goft weett Syt

I3 11 (B) 13RIV

I1 3R 111 (D) L II, III 3R IV

UfceTiées dR W, 99Ul fava § g e w7 foh eifuekry qEn # feRi i wen
TENT <hl U oISl ik Bt 3 | FfeiRad # & fopd Reni A 39 |wa ST 2

L.
IT.
I1I.
IV.
(A)
(C)

Al St =15k o gER B T RN § a1k Sfifed weft # |
farg] sraen § @Rt gt o ufa ufaed Bt 3 |

¢ ol MAfhar <3 aret T smeniia aiEr |

o deey suaEn |

I, 11 3 111 (B) I3 III
I1I 3R IV (D) I3IRII
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3. Which of the following statements is not true for Green Revolution ?
(A)  Green Revolution was a government programme of agricultural
modernisation.
(B) It was largely funded by international agencies.
(C) The first wave of the Green Revolution package was received by
Bihar, Eastern Uttar Pradesh and Telangana.

(D)  Green Revolution was targeted mainly at the wheat and rice
growing areas.

4, Which of the following is/are the characteristics of Ecological movements ?
I. Identity politics
II. Greater exploitation of natural resources
III.  Cultural anxieties
IV.  Social inequality
(A) OnlyIandII (B) OnlyII
(C) Only III (D) L II III and IV

5. Due to COVID-19 pandemic hundreds and thousands of workers worked
from home. Which of the following can allow work from home ?

I. IT sector

I1. Bidi Industry

III. Maruti factory

IV. All Government firms

(A) TandII B) TandIV

(C) ITandIII (D) LI IIIand IV

6. Historically, all over the world, it has been found that there are slightly
more females than males in most countries. Which of the following
factors made this possible ?

I. Women tend to outlive men at the other end of the life cycle.
I1. Girl babies are resistant to boy babies in infancy.

III. Gender-based families with preference for sons.

IV.  Gender neutral behaviour.

(A) I,IIandIII (B) TandlIII

(C) IllandIV (D) TandII

62-11 Page 5 of 19 P.T.O.
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10.
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IufAaETeg 3 SIfe e § e gEwaqul ufeds fha |

39 HY W AT T8l HeH AT ¢

(A) 1903 ¥ g gl & Féem o ST S T |

(B) 38 VAT | ST o HTHINIh SAUshA o 9R H ohls ST Sehgl 8l
% |

(C)  wmed 3 fuse Ol & weamor 7 off wfg <t

(D) 1950 T WRd TR AfufEm uifa fear mn fem o= g fomiw
=agr & fore fgifa Sifoai qon seenfat 6 gt = g =t
I AT Ye L 4 |

3Thal TN HRATE AMINH Tiad- gHfvaa T&f ot dehdl | AN TR
gHfTad o o T 6 3R 1 SiigH it ATawehal & ?

(A) ohde TN THTS TS

(B) hdd HIfged | INTEH

(C) had g Hifsan

(D) TR THTS T, Afeed § e, g=r Hifsa

T (A) :  Tafauar wse SEHEATS & 9 3700 WA ¢a1 @ |

R (R) : Tiehiceh fafaed HaR Tl Tqd o dehdl & |

(A)  IfRI (A) qAT SR (R) ST T & 9971 SR (R), 3TTha (A)
TE ST 7 |

(B) AR (A) TAT WU (R) GHI Tl §, ikt SR (R), AR (A) i
Tl AT 78T 2 |

(C) AT (A) T&l 8, TfRd %I (R) Td & |

(D) AR (A) T4 &, Wlhd IO (R) TE 8 |

Hoft-hefl AT el Sfaq 1 $© amIioe HRO § off 9EE A & |

fafeafigd ¥ 9 Si9-91 SR 787 8 ?

(A) vl o e f ferh of gea €

(B) O Siaq # srafifudi @ Hueh gar @ar @ |

(C) dTaTsl, a9 USSR MR YHal S8 aTeft i & qeneqi § SUeK
AT ST & R |

(D) HMITh &9 & THcaRIeN ATH0 FHEI o TUETRd TS AR AL H ST

o~

s Wt ®H S ¥ fE=afrard @ |
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Colonialism brought about significant changes in the institution of caste.
Choose the correct statement related to this statement.

(A)  The 1903 census was done under the direction of Herbert Risley.
(B) No information was collected on the social hierarchy of caste.

(C) The administration also took interest in the welfare of the
downtrodden castes.

(D) The Government of India Act of 1950 was passed which gave legal
recognition to the lists or schedules of castes and tribes marked out
for special treatment by the state.

State action alone cannot ensure social change. What else does it need to
be supplemented with to ensure social change ?

(A)  Civil society organisations only
(B)  Contributions to literature only
(C) Mass media only

(D) Civil society organisations, Contributions to literature, Mass
media

Assertion (A) : Diversity emphasises differences rather than inequalities.

Reason (R):  Cultural diversity can present tough challenges.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

Sometimes cities may also be preferred by people for social reasons.
Which of the following is not a reason ?

(A) Cities offer relative anonymity.

(B)  Urban life involves interaction with strangers.

(C) Continuous decline in common property resources like ponds,
forests and grazing lands.

(D) The poorer sections of the socially dominant rural groups do not
engage in low status work in cities.
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11.

12.

13.

14.
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ffefigd W @ H-91 T g § Hatad 737 2 ?
(A) foEr i 3 yew % e

(B)  hHICeh o ATaRhicT

(C) U9 % AR

(D) dfteTg % @E

Yo (A) : AR Th T % Hel gRI g8t T % a1 H Jaehiodd (o
1 HEER Bl € |

HRI (R) : Ara (T) fomr foww =1 9 3R fomr 35 aeai =& W@
IEATA § & o form S 7 |

(A)  ARMH (A) qAT FHROT (R) AT T&l & G HROT (R), ATWhA (A) H
TE ST 7 |

(B) AR (A) TAT HWU (R) GHI Tl §, AAfehd HRUT (R), AR (A)
el AT 7ET @ |

(©) IR (A) T 2, |AfehT sRor (R) T # |

(D) AMYHI (A) T4 &, Wlhd IO (R) TET 8 |

BT (A) :  Oiffeh 3R USHITGh &1 o GUERO o UfRam & dmEIh
3fde™ T T o1 HIg o fed |
R (R) : I JUFRLT GHRYETRT AT SHSa 8 g6 o IqU 118 &
I S UhAT W GERE o1, Fifh 36 €W hl Uk AR
TR <1 a9 Woss AR SS98r & &9 H ded fear T
or |
(A)  MYH (A) 9AT HRU (R) ST T& & qAT SR (R), 3HHH (A) HI
e AT 7 |
(B) 1WA (A) T SRV (R) ST &l &, TAfehd SR (R), AMHH (A) hi
el AT 7E 2 |
(C) AT (A) T&l 8, TfRd %I (R) Td 7 |
(D)  IAMHI (A) TId &, TThd SR (R) &l 7 |

IR <l fifd & Taq T yrflert gt B, St e s1faes
Th AU SR ST ST 3 |

(A)  WTO (B) EPC

(C) WHO (D) UNCTAD
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12.

13.

14.
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Which of the following do not belong to each other ?
Yadavs of Bihar and Uttar Pradesh
Vokkaligas of Karnataka

Jats of Punjab

Khammas of Tamil Nadu

(A)
(B)
(&)
(D)

Assertion (A) :

Reason (R) :

(A)

(B)

(&)
(D)

Assertion (A) :

Prejudices refer to pre-conceived opinions or attitudes
held by members of one group towards another.

An opinion is formed in advance of any familiarity with
the subject, before considering any available evidence.

Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.

Reason (R) :

(A)

(B)

(C)
(D)

The separation of religious and political authority marked
a major turning point in the social history of the west.

This separation was related to the process of
secularisation or the progressive retreat of religion from
public life, as it was converted from a mandatory
obligation to a voluntary personal practice.

Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.

The policy of liberalisation entails the participation in the ,

which aims to bring about a more free international trading system.

(A)
(C)

WTO
WHO

(B) EPC
(D) UNCTAD
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‘ST’ & e F=falRaa 9 & w9 foxwar 7 3 2

15.

16.

17.
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(A)
(B)
()
(D)

T 379 hE H YHT T8 BId B |
Ig H1 SFUA R Ik 1Al Bldl 3 |
TN 3194 1 T AfdH 9 <@ 914 8 |

IAGNTaar 39 od W A st g o6 usiid g om & faw feeaan
TN Bed! 8 |

T TRIeHT o fog FrefaRad § 9 H-a1/8 9 2/3 2

L.
IT.
I1I.

IV.
(A)
(C)

d yepfd § dfeek 7 |
J had a1 SATUR W G71fed ald 3 |

GEE hi TSI, HREhldeh o e AN U | TG
& =T HH & I e 9 § |

d UHIfdeh 2l o <R | T8l 2 |

had 1 (B) I3RII
I, I 3R IV (D) II3AR III
ECLCRC|

HY % USSR H Th 3= qAT AUH TAAd & TgUSGd Ha =i
H 3 &F W PN Hel N A, FHieAmn qon @I o fashdr & ®9 H
JowT B | TUSe S o STHUE ¥ hR + 39 iy foehrE wRiRAT |
Ht i 7 JAT PN fomqr’ Teidi 1 TIH TG § S, G1G AT hieAe
HUT o TSidi 4 o o & |
I9Yh TG o YR W, = g 7T 77 o1 IR e
FY K Aok SATTHRIF B S & 3 2

HAAT
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Which of the following features is incorrect for alienation ?

(A)
(B)
(®)
(D)

People do not enjoy their work.
Work is repetitive and exhausting.
People see the end result of their work.

Survival depends on whether technology has room for any human

labour.

Which of the following is/are true for New Movements ?

I
II.
ITI.

IV.

(A)
(®)

(a)

They are global in nature.
They are organised along class lines alone.

Identity politics, cultural anxieties and aspirations are essential

elements for these movements.

They are not within the framework of political parties.

Only I (B) TIandII
I, IIT and IV (D) IIandIII
SECTION B

The more widespread aspect of the globalisation of agriculture is
the entry of multinationals into this sector as sellers of agricultural
inputs such as seeds, pesticides and fertilisers. Over the last
decade or so, the government has scaled down its agricultural
development programmes and ‘agricultural extension’ agents have
been replaced in the villages by agents of seed, fertiliser and

pesticide companies.
Based on the given passage, answer the following question :

How is agriculture becoming more commercialised ? 2

OR
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18.

19.

20.

21.

22.

23.

24.

25.
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(@) TS 9R A I e S fGaE glaund, weeh, fasieht den Sy
e o stferEta § e fren | ffia &9 9 Y 3ca1e | ghg 6
foru fomm foreft o1atia & fooielt aeeg oft amfior yra & foe stewass 2 |

3UYth T=0q b UR W, A= {4y ¢ e =1 I i
A TR i TS & § I i T8 A1 39 T § Toh Hewayul S
2 | AT & W fAfean | 39 FiE o1 sy afony =@ g 2 1+1=2

TSR 3R EI-UTHTR TR i o foIU W TR A e HRIsHHT ol ey o
2 | Torgl a1 rishHl o A9 9d1SY | 59 HIAHHT T HhRIcHs JNOTH 1 & ? 1+1=2

T G 3T AN AR o si9 Tt oqsy | 1+1=2
e Wl 1 GRS #ew & | 36 59 & qued # g foig forfay | 1+1=2

“@m rfatEm, 19527 61 g feRvard sqrsT | 2

FfFft B TS H TS wafg I I Rafa ot e =@ 7
o Fgfg g T 8 ? ST ITIWA i a1l Toheal & QRN o AW FaT3Q | 1+1=2

TS9 & fohre dadt Rl iR fisft 3 61 "99fg 3 vy €9 9 wfd

FEAT ! THTfd fopam | RIS 2 atieh satse e I8 s &iaT § | 1+1=2

(%) TRk Tg=E w1 & faRmand fafeu | 2
STt

(@) O™ Hed § ‘Ssere’ = g 2 2

AT ¥ Ha g @ b faftm wmmi # fafqg yeer & qfer ww S 2
JATE % o & FITER INER & g JhR fafeu | 1+1=2
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(b)  The state invested in the development of rural infrastructure, such
as irrigation facilities, roads and electricity and on the provision of
agricultural inputs. For regular agricultural growth, uninterrupted

power supply to rural India is one of the necessities.
Based on the given passage, answer the following question :

A recently launched scheme is an effort of the Indian Government
in this direction. Name the scheme. State the overall result of this

scheme. 1+1=2

To generate employment and self-employment the Government of India
floated many schemes. Name any two schemes. What is the positive

outcome of these schemes ? 1+1=2
Differentiate between social change and social movement. 1+1=2

Contract farming has sociological significance. Give two points to support
this statement. 1+1=2

Mention two features of “The Mines Act, 1952”. 2

Sometimes societies can experience a ‘negative growth rate’. What

is ‘negative growth rate’ ? Name any two countries that have experienced
it. 1+1=2

The development activity of the state and the growth of private industry

affected caste indirectly. State any two ways in which this is evident. 1+1=2

(a)  Write any two features of community identity. 2
OR

(b)  What is ‘regionalism’ in the Indian context ? 2

Studies have shown how diverse family forms are found in different

societies. With regard to rules of residence, write two forms of family.  1+1=2

Page 13 of 19 P.T.O.
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26. SESIGA Sl UH SAMEH (pristine) AT Hifctsh 1o faglg @, S Fwa
T P 13 8, A 1 IS GEIA TGN T& g | I8 3T RN 7 Foh ==
THSE 3 T A 3TRIH R TUTES TSI b G0 & Sl AHTSeh IiadHl
g ofad ® 7 ot ft W= IR W foRHE g gdlich, il dd 99d § I8 699
T @R |
IR UR=DE o YR W IR HRU Fq1d gY T HIWT foh Sl o 18

&+ & T =i 318 8 | 4
27. (%) fofew sufammEm s ot gar shiaq =1 s wfew femm & 1 &3 2 4
HAYAT
(@) =R 3TN K TR ¥ 9arst fob aRa § SH T &1 yue |
TR g SR forigTeres &1 8 ? 4

28. 3yl wra ® fom & foufa &1 wwm seedt ad o meyarfia amiaes gun
HGIA! o Teh TGH8 o &9 4 3ed g7 | 37 SAQIeH! ol Toeq |t &3l § T
ST TE o |
et 1 feufa o6t aaiiaa S Tt fhegl g I gUR SATeIeH! ol STl
HIT | 4

29. “H U% o1gw =ARE g, T, Ao AT foh AN g @ & 6 9Rd | S
Tehd & aEren # Heft-weft gedA R gEn wa € A feufa oft @ 3 &
2 | UE T @ " A e faguerl gdun | orr € | 99 A W U I @
U 9@y & T@d § S 3R AU Hedrsh d ST 7 | A, J T DS
h! T6 $S <@ Tohd 7 |7 (U, 1952 : 3)
favaww # “Ffran/steqmar’ &1 S e THIN ST B 3k S W A

EIE 4
30. ‘TEhdlR W HI IcUN fohd THSRME g h TS ? HERAHUl g

TR -HEhdTehT 37T FATET | 1+43=4
31. Sfiufafie YR § U g IE 1 T T % o T g yonforn ht s

HIT | 2+2=4
32. ¥ &7 % FGd HR o A, WA At ff FHhl 85 T TH HN J9H <

2 | R FATST, | 4
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SECTION C

26. Some scholars have argued that there is no coherent basis for treating
tribes as ‘pristine’ — i.e., original or pure — societies uncontaminated by
civilisation. The idea that tribes are like stone age hunting and gathering
societies that have remained untouched by time is still common,
even though this has not been true for a long time.

Based on the above passage, justify with four reasons why this idea of

tribes having remained untouched is untrue. 4
27. (a) British colonialism is still a complex part of our lives. How ? 4
OR
(b)  With the help of four examples, show how the impact of the
English language has been many sided and paradoxical in India. 4

28. The women’s question arose in modern India as part of the nineteenth
century middle class social reform movements. The nature of these
movements varied from region to region. 4

Explain any two social reform movements that addressed the women’s
question.

29. “I am invisible, understand, simply because people refuse to see me. Like
the bodiless heads you see sometimes in the circus sideshows, it is as
though I have been surrounded by mirrors of hard distorting glass. When
they approach me they see only my surroundings i.e., themselves or
figments of their imagination. Indeed everything and anything except me.”

(Ellison, 1952 : 3)

Mention some of the common features central to the public perception of
‘disability’ all over the world. 4

30. Which sociologist coined the term ‘Sanskritisation’ ? Differentiate
between Sanskritisation and de-Sanskritisation. 1+3=4

31. Explain two land revenue administrative systems introduced by the
British in colonial India. 2+2=4

32. Despite the increasing size of the services sector, India still is largely an
agricultural country. Give reasons. 4

62-11 Page 15 of 19 P.T.O.




Qug ™
33. YRT B TTGEIT Hl 3 TFT, 1961 — 2026
G 3y ElS
0-14a% | 155999 | 60 a¥ & 31ferh
1961 41 53 6 100
1971 42 53 5 100
1981 40 54 6 100
1991 38 56 7 100
2001 34 59 7 100
2011 29 63 8 100
2026 (J&IfUd) | 23 64 12 100
3ITh areft & e W, ffafea et & 3w @i
(%) TAACIRT ATH & R AU B 2
(@) 39IH Groll & MYR W, a9 1961 R 2026 % 3AThel hi JoHT HIIT
IR 39T Feepd &Sy |
() TR gan wwisadr U i waly SR wHlg 1 Eid U S Hehdl
2 ? Jeoig I |
Fie: HECTRIT J97 HIT gleamiaa qiemferl & 77 3. 4. 33 & T W& :
3Tehe UM & foh < <l YUl SHEE § 15 99 & %A g ad v ol fFeam
1961 § 41% % Tar= &R W o7 T¢hl 2026 § 23% o &L T AT AT |
15 — 59 % 3Tg a1 ! 0T 53% € S TR 64% Bl AT FA«eh 60 a9 &
3ferh bl Y ATt ol o1 fewEn 95d Biel @ ik 98 3E 3ty o N s
(6% § 12% d) T& & T 8 | 3Afhe awid & f6 0 — 14 3y ot =1 fgemn
T 18% ©E AT (1961 W 41% ¥ HTH 2026 | 23%) Jafh 60 a9 & Afeeh
% Y I H T 6% i ghg BN (1961 H 6% & FEH 2026 H 12%) |
feu U el o auR W, fefafad g & I G
(%) TARITCIRR ATH & F1 I B 2
(@) 3ITT Iq=Dg & SMUR W, I¥ 1961 3 2026 % 3Tk I Tl
ST 3 319 ey FraTsu |
(1) TR 33T wiS@ar U MiE Halg SR HHLg 1 EI U S Hehdl
2 ? Jeoig SHINT |
62-11 Page 16 of 19




33.

Note :

62-11

SECTION D
Age Composition of the Population of India 1961 — 2026
Year Age groups Total
0 — 14 years | 15 — 59 years | 60+ years

1961 41 53 6 100
1971 42 53 5 100
1981 40 54 6 100
1991 38 56 7 100
2001 34 59 7 100
2011 29 63 8 100

2026 (Projected) 23 64 12 100

Based on the above table, answer the following questions :

(a) What is meant by demographic dividend ?

(b)  Based on the data given in the above table, compare the data of the
years 1961 and 2026 and state your inferences.

(c) A falling dependency ratio can be a source of economic growth and
prosperity. State how.

The following question is for the Visually Impaired candidates only
lieu of Q. No. 33.
Data shows that the share of the under 15 age group in the total
population will come down from its highest level of 41% in 1961 to 23% in
2026. The share of the 15 — 59 age group will increase slightly from 53%
to 64% while the share of the 60 plus age group is very small but it has
begun to increase (6% to 12%) over the same period. Data shows the
0 — 14 age group will reduce its share by about 18% (in 1961 — 41% to
23% in 2026) while the 60 plus age group will increase its share by about
6% (in 1961 — 6% to 12% in 2026).
Based on the given data, answer the following questions :
(a)  What is meant by demographic dividend ?
(b) Based on the data given in the passage, compare the data of the
years 1961 and 2026 and state your inferences.
(c) A falling dependency ratio can be a source of economic growth and
prosperity. State how.
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T H vgd toran onft FIE U wfeq gferd ST Tal gam @ | fafrw sviget
3 eferdl & gefeq fafie gei =1 fofier fommeament & s swr 2 | efera
SATGIe! 31 Tehfd ael 8= < 1o H s < Srasg T THEAT, SATCHarH
AT TN I o foIT T GHHAT <hl Giet 2 & 3 | (M 2001 : 194)
IS h IMUR R, FHHfIRId T o I ST ¢

(%) Tl TGIeH o IS al 3a faRaT |

(@) Tfera STgieHl g 39K febe T fafya ggi w ==t Sl |

TS Th TS Tohe 1 THg™ giar g foees aui af e 8 W 38 qidiya
AT BT & | LET i ?
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There has not been a single, unified Dalit movement in the country, now
or in the past. Different movements have highlighted different issues
related to the Dalits, around different ideologies. Notwithstanding
differences in the nature of Dalit movements and the meaning of identity,
there has been a common quest for equality, self-dignity and eradication
of untouchability. (Shah 2001 : 194).

Based on the given passage, answer the following questions :

(a)  Write any two examples of Dalit Movement.

(b)  Discuss the various issues highlighted by the Dalit Movements.

A nation is a peculiar sort of community that is easy to describe but hard
to define. Why ?
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